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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-3 0
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G3-3

BrE) | GEBAKE) | ERE(EH/AR) | EREE (F/R) [ XS R

06:05 140 80.0 1.728 F|  FiHAe06:05 KREFEF (RA{LREIEE
07:05 140 80.0 1.728 5| FHEAe07:05 KEFEF (KRAEREEE)
08:05 140 80.0 1.728 5| FEAQ08:05 KENFEFE (RAfEEER)
09:05 140 80.0 1.728 5| FHEA@09:05 KENFEF (GRAA{EEIEE)
10:20 140 80.0 1.728 5| FEA@10:20 KENFEF CGRAMEEEEE)
11:30 140 80. 0 1.728 5| TfAe11:30 KEIERF (RE1EREE)
12:35 140 80.0 1.728 5| FHAe12:35 KEIEFE CGRAMFESE)
13:40 140 80.0 1.728 5| FHA@13:40 KENFEF CGRAMEEEE)
14:50 140 80.0 1.728 5| FHA@14:50 KENFEF (CGRA{ERNEE)
16:20 140 80.0 1.728 E(  FiHRe16:20 KREFEF (CGRAEREE)
23t 1400.0 (100%) 800. 0 3EUHREC: 3000.0, PH: 6.5

FERGEERIPH (10.49) 5iGFEPH (6.5) REK K, AT
FEREIPH (10.49) 5FPH (6.5 REKK, FHE
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G3-3

BriE) | GEBAK(F) | ERE(EH/AR) | EREE (G/R) [ XS R

06:15 138 80.0 1.728 E BRi&e06:15 Bz (RAERERE)
07:05 138 80.0 1.728 F[ BRi1%e07:05 Ba1 (GRAERESE)
07:55 138 80.0 1.728 = {Ri%@07:55 B (RAERSE)
08:45 138 80.0 1.728 E  BRi%e08:45 BEl (RAERE)
09:35 138 80.0 1.728 5| 1Ri%@09:35 Bz (KREAEESE)
10:55 138 80.0 1.728 =l {Ri%@10:55 B (RAERSE)
12:15 138 80.0 1.728 E BRige12:15 Bz CGRAERESE)
13:30 138 80.0 1.728 5| {Ri%e13:30 B3 (RAERSE)
14:30 138 80.0 1.728 = RRiB014:30 Bz (RFAEESE)
15:30 138 80.0 1.728 F BRi&e15:30 Bz CGRAERESE)
16:30 138 80.0 1.728 El BRi&e16:30 Bz GGRAEREEE)
23t 1518.0 (11)%) 880. 0 3EWGHKEC: 3000.0, PH: 6.5

EREB AR IRIE LI (300 vs 138.0))

FRINKPREBE174.0 ml.

large discrepency for begining water status (220:54.0), set to 220 ml
RERSERIPH (10.53) 5i&EPH (6.5 REKK, BT

REXJEBIPH (10.53) 5FMPH (6.5) RERK, FHRE

ERGEBIEC (2844.0) SHEEIEIN (2340.0) RERK, BHWE.

LRGEBPH (10.4) 5igEE (6.3) REKK, BHRE.

LERGEBIPH (10.4) S5iREEY (6.5) RERK, HRE.



G3-3_0, Day=25 (2025-06-06)
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G3-3

BfE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R

07:30 138 80.0 1.728 F[ BRi%e07:30 Ba1 (GRAERE)
08:30 138 80.0 1.728 (£ =| {Ri%@08:30 Bz (FHEAHEESE)
09:30 138 80.0 1.728 FA| 1B2i%@09:30 B3zh (KAB{EREEE)
10:30 138 80.0 1.728 FA| 1BRi%@10:30 B3h (RAERSE)
11:30 138 80.0 1.728 FA| 1B2i%@11:30 B3h (kAEREE)
12:30 138 80.0 1.728 FA| 1B2i%@12:30 B3h (RA{ERSE)
13:30 138 80.0 1.728 | =| 1Ri%@13:30 Bz (RAHEESE)
14:30 138 80.0 1.728 |2 =| 1BRi%e14:30 Bz (kAEREE)
16:10 138 80.0 1.728 | =| 1Ri%e16:10 Bz (RAEREE)
21t 1242.0 (9%) 720.0 3 WHKEC: 3000.0, PH: 6.5

EREERTIREETER K (0.62 vs 0.56)), AJEEA S IAEESEIERK
ZRIASERRIERES0. 0 ml.

FERZERPH (10.54) 5i&5EPH (6.5) REK K, BT

BEXRERIPH (10.54) 5FMPH (6.5) REK K, HRE

LRGERIEC (2903.0) S5iREVEY (2340.0) REK KX, BHRE.
FURGEBIPH (10.5) 58 EE (6.5) REK K, BT,

LOREBIPH (10.5) SHRBIEN (6.5) REK K, BRE.
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G3-3

BrE) | GEBAK (F) | EHRE(EH/AR) | EREE (G/R) [ XS R

06:45 136 80.0 1.728 E BRi%e06:45 BE1 (RAERERE)
07:35 136 80.0 1.728 F BRi1%e07:35 Ba1 (GRAERE)
08:40 136 80.0 1.728 = {Ri%@08:40 B (KRAMERSE)
09:30 136 80.0 1.728 F  1BRi%@09:30 Bzl (RAERE)
10:20 136 80.0 1.728 = Ri8010:20 Bah (RAEESE)
11:10 136 80.0 1.728 =l Rige11:10 B3 (GRAERSE)
12:00 136 80.0 1.728 E BRige12:00 Bz (GRAERESE)
13:10 136 80.0 1.728 5 {Ri%e13:10 Bz (RAERSE)
14:15 136 80.0 1.728 = RRiBe14:15 Bz (REAEESE)
15:15 136 80.0 1.728 E BRi&e15:15 Bz CGRAERESE)
16:15 136 80.0 1.728 El BRi&e16:15 Bz CGRAERESE)
23t 1496.0 (11%) 880.0 32 3FKEC: 3000.0, PH: 6.5

FERGEEIPH (10.84) 5igFEPH (6.5) REK K, AT
FERERIPH (10.84) 5FPH (6.5 REKK, FHE

LRGEBIEC (2746.0) 51REVEY (2340.0) RERK K, BHEE.

ERGEBPH (10.4) 518EE (6.5 RERK, FHEE.
ERGEBPH (10.4) SR (6.5 WERK, HHEE.
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G3-3

BrE) | GEBAKE) | ERE(EH/R) | EREE (F/R) [ XK R

07:00 133 80.0 1.728 E|  {Ri1&@07:00 Bah (RFE{ERLEE)
07:55 133 80.0 1.728 = {RRiB@07:55 B (RFAEEE)
08:55 133 80.0 1.728 5| {Ri%@08:55 Bz (KRFAERSE)
09:50 133 80.0 1.728 5| {Ri%@09:50 Bz (FRFAERSE)
10:45 133 80.0 1.728 = {Ri%010:45 B3 (RAERSE)
11:40 133 80.0 1.728 Sl {Rige11:40 B3 (RAERSE)
12:45 133 80.0 1.728 E| {Rige12:45 Bzh (GRE{ERSE)
13:55 133 80.0 1.728 F BRige13:55 Bz (GRAERSE)
14:55 133 80.0 1.728 S| {Rige14:55 B (REAERSE)
16:00 133 80.0 1.728 El BRige16:00 Bzl (GRAERESE)
213t 1330.0 (100%) 800. 0 3 WHKEC: 3000.0, PH: 6.5

FERERIPH (10.69) 5i&EPH (6.5) REK K, AT
FEREIPH (10.69) 5FMPH (6.5 REKK, FHE

LRGEBIEC (2786.0) 51REVEY (2340.0) RERK K, BHEE.

ERGEBPH (10.7) 51%EE (6.5 RERK, HHE.
ERGEBPH (10.7) SR (6.5 WERK, HHRE.
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